5.2.1
€9

5-2-1 5-2-1
5-2-1
15 19
5 16 19
17 20
19
20
17
1
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19
5-2-2(1) (2)
15 19 0.022 0.030ppm 19
0.022ppm
98 0.044ppm
5-2-2(1) 15 19
ppm
15 16 17 18 19
0.030 0.026 0.025 0.025 0.022
19 20 1
19 20 6
5-2-2(2) 19
0.06ppm 98
0.06ppm
98
ppm ppm
0.022 0 0.0 0.044 0
19 20 6
15 19
5-2-3
5-2-3 15 19
ppm
15 16 17 18 19
0.045 0.036 0.034 0.034 0.030
16 19 17 20
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19

5-2-4(1) (2)

15 19 0.031 0.034mg/ 3 19
0.031mg/ @
19 1 0.20mg/ *® 13
0.10mg/ 3 1
2 0.076mg/
5-2-4(1) 15 19
mg/ 3
15 16 18 19
0.034 0.034 0.034 0.033 0.031
19 20 1
19 20 6
5-2-4(2) 19
0. 10mg/n?
0.20mg/m® 0.10mg/m? )
2 0. 10mg/n?
mg/ ° mg/ ° < o
0.031 13 0.1 1 0.3 0.076 o 0
19 20 6
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17 5-2-2

17 1.3 7/

9 4 =5
AR (ms)

= 1. 3m. s

F—4W= BT753
- ) EhodEE, TEEETL, FOAY—iE

HHA2. 5m s%&, AMHES5. Om s &5 T,

5-2-2 17
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5. 2.2
€y

5-2-5

5-2-5

98
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5-2-3

IIIIIII

98%

2%

5-2-3
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12
50

1.0 7/

I A R AW I
C(R’Z)_«/ﬁT/&u-R-q {e p( 20, ] ep( 20, ]]

(m)
(m)
(m
(m /s kg/s)
(m/s)
(m)
o (m)

0.5 0.9 /

_ Qp 1 _uz(z—He)2 . _uz(z+He)2
C(R’Z)_\/En/s-y'[r? © p{ 2NAT } 1t p{ 2NVAT H
=R+ (- H, )

Y
of
It =R*+—-(z+H,)’
Y
(m)
(m)
(m
(m /s kg/s)
(m/s)
(m)
a,y
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0.4 7/

C(R ,Z) _ QP

(e e )
e” v (R +lo/vf -(H.-2f R +lo/vf (K, +2f

(m)
(m)
(m)
(m /s kg/s)
(m)
a,y
5-2-4
1l'.llZI~1:HZI'E

1000 E /_.-
A

-

,#f"*gfrﬁﬂfﬂF

A~F : RAXVEREE

(m)

100

(i

10

10 100
BTEE (kn)

0.

5-2-4 P-G-S
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5-2-6

5-2-6
0.4 / 0.5 0.9 /
a Y a Y
0.948 1.569 0.748 1.569
0.859 0.862 0.659 0.862
0.781 0.474 0.581 0.474
0.702 0.314 0.502 0.314
0.635 0.208 0.435 0.208
0.542 0.153 0.342 0.153
0.470 0.113 0.270 0.113
0.439 0.067 0.239 0.067
0.439 0.048 0.239 0.048
0.439 0.029 0.239 0.029
i1 1 16
(® (
1 16
u/a 1 f,=—>F,
16 =
3
1 u/a 1.5 foa=|fi+2) F +F,, /16
k=-3
2
1.5 uv/oa 2 foa=|fit2) F+F,, /12
k=-2
1
2 u/oa 3.3 foa=|F+2) F o +F., /8
k=-1
3.3 uwa 6 f = (F, +2f, +F,, V4
6 u/a f=F

ci i
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u/a 1.5 R u-He/N2y

Fom F,| R[4 RIZLTE
cci { a[\/_zy )—i_ (o] } ,\/_Zy

f,
f(:| fcci
fa:i 16 I
16 =
C(R):Z z Z Cl(Di’Uj ssk)'fl(Di’Uj ’Sk)+z CZ(SK) fZ(Sk)
i j k k
()
1C i jo k) i j» k
1( i j k) [ j k
2C ) K
2( k) k

NO, =2.914 NOx ©°-°%

[NC]
[NO,]
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0.908

ppb
ppb
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15 19

[NO,] =1.4971 [NO,] 0.0102 0.863
[SPM] =1.6426 [SPM] 0.0179 0.770
[NO,] 98 ppm
[NO,] ppm
[SPM] 2 mg/m?
[SPM] mg/m3
0 24 8 24
7 24
5-2-7
5-2-8 5-2-5
5-2-7
0 0%
142.9m /h 40ppm 6 173m
113.5m ,/h 60ppm 3 173m
181m /h 40ppm 6 173m
92m /h 60ppm 5 173m
32.6m /h 35ppm 3x<3 142m
43.9m /h 35ppm 42 142m
5-2-8
1,375 2,135
2t 328 237 6.8m
4t 18 16
2,095 3,200 1.1m
2t 404 303 4.5m
4t 22 20 6.8m
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24

16 365
295 70
10km/h
360 700
5-2-9
5-2-10
5-2-11
5-2-9 1
NO SPM
( )
142.9m /h |0.0549m /h | 0.00101kg/h 173m
113.5m ,/h |0.0654m ,/h | 0.00081kg/h 173m
181m /h |0.0695m ,/h | 0.00129kg/h 173m
92m /h 0.0530m ,/h | 0.00065kg/h 173m
32.6m /h |0.0148m ,/h | 0.00023kg/h 142m
43.9m /h [0.0200m ,/h | 0.00031kg/h 142m
SPM 9
0.0071kg/10°m®
5-2-10
(g/km)
10km/h 10km/h
0.057 0.000
2t 0.654 0.019 0.353
0.010
4t 3.177 0.098 3.982
0.123
1. 22
2.
5-2-11
10,968m%,/ 170.5kg/
153m3,/ 6.0kg/
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17 4 1 18 3 31 1

8 24 1
7 16 5-2-12
5-2-6
5-2-12

0.4 0.5 0.9 | 1.0 1.9 | 20 29| 3.0 3.9 | 4.0 5.9 | 6.0

0.7 1.5 2.5 3.5 5.0 7.0

B—2 40F

30 (%)

) Evhodiiii, PHEEdErnL, TOAr—lii
MM 2, 5m s %, WA 5. 0m s &B5T,

17 4 1 18 3 31

5-2-6
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5-2-13

/
m/s
(=18 ) m/s
5-2-13

0.150 0.225 0.300 0.375 0.375 0.450

17 4 1 18 3 31

8 24 1 7
5-2-14
5-2-7
19
0.030ppm
0.031mg/ 3
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5-2-14
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TH)kW/m
/ 0.60 T 0.30 T (5 10)
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u 3
u 4
u 6
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% 40 1
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% 40
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